RELEASE VOUCHER (AIG Express Third Party Claim)

"We/I,Performance Motors Ltd ("the workshop") hereby confirm that we/I
·
have reached an agreement with the appointed surveyor of AIG Asia Pacific Insurance Pte Ltd <u>LKK</u>
AUTO CONSULTANTS PTE LTD (name of surveyor) with respect to the amount claimed for
S\$30960 D2 (Repair Cost), S\$ 9W (Loss of rental/use), S\$ 7-45 (Disbursement), for vehicle no.
IBL 9 P that was damaged pursuant to the accident which occurred on 7.3. 2018 (date) along
(location) involving vehicle no/s Sk29516. This is
pursuant to the inspection conducted on 14.3.2018 (date) at "the workshop".
We/I confirm that we/I are/am authorized by the owner Fou knavy Teck
("the third party claimant") of vehicle no. $\frac{SBL 9P}{}$ make the claim as set out in the above paragraph
and we/I have full authority to settle the matter on his/her behalf in a manner that we/I deem fit. We/I
enclose herein the letter of authority given by "the third party claimant".
We/I further confirm that we/I will indemnify AIG Asia Pacific Insurance Pte Ltd for all damages, loss
and/or expense that they will or have already incurred in the event that "the third party claimant" after the
above said agreement lodges a further claim against the former for any loss and expenses suffered
pertaining to costs of repairs and/or rental and/or loss of use pursuant to the damage to SBL9P.
(vehicle no.) as a result of the accident.
We/I confirm that the agreement reached above is in full and final settlement of any claim of "the third
party claimant" pursuant to the accident and that further this settlement is reached on a without prejudice
and without admission of liability basis.
This agreement is subject to the application of Singapore law and the Singapore Courts have exclusive
jurisdiction over any dispute arising out of the same.
Dated this (day) of (month) 20 (year)
HAN KWAN YONG

Signed by appointed surveyor

Signed by "the workshop" (with chop)

NOTE: TO BE	COMPLETED	BY SURVEYOR
-------------	-----------	-------------

TEAM

AIG THIRD PARTY EXPRESS SETTLEMENT FOR ACCIDENTS ON OR AFTER 1ST JUNE 2008 (PAYMENT BREAKDOWN)

S N Pe	
Global Sum Settlement : [] Yes [] No Repair Estimate : \$ \(\)	
Repair Estimate S > 6065.27 Final Repair Cost Loss of Use S 900.00 Q days at \$ 100 pc Rental (if any) LTA / GIA Search Fee S 7.45 Others: S Final Settlement Sum Is Third Party Workshop GIA Registered? [] YES [] NO (Kindly indicate below) A) For Non GIA Registered Workshop: Agreed Liability (%) BOLA Applicable: Yes/No	
Repair Estimate S > 6065.27 Final Repair Cost Loss of Use S 900.00 Q days at \$ 100 pc Rental (if any) LTA / GIA Search Fee S 7.45 Others: S Final Settlement Sum Is Third Party Workshop GIA Registered? [] YES [] NO (Kindly indicate below) A) For Non GIA Registered Workshop: Agreed Liability (%) BOLA Applicable: Yes/No	
Final Repair Cost Loss of Use S QW-W Adays at \$ 100 per Secretary S Gays A) For Non GIA Registered Workshop: Agreed Liability BOLA Applicable: Yes/No S S QW-W A days A days A days S QW-W A days A d	
Loss of Use Solution Rental (if any) Solution Gays at \$ 100 per days LTA / GIA Search Fee Solution Cothers: Solution Solution Solution Solution Gays at \$ 100 per days Any Solution Gays at \$ 100 per days Solution Gays Any Solution Gays Gays Gays Gays Alight For Non GIA Registered? Solution Solution Gays Gay	
Rental (if any) LTA / GIA Search Fee STATE Others: STATE Final Settlement Sum Is Third Party Workshop GIA Registered? [] YES [] NO (Kindly indicate below) A) For Non GIA Registered Workshop: Agreed Liability (%) BOLA Applicable: Yes/No	lt.
Cothers: Signal Settlement Sum Signal Settl	r day
Others: Signal Settlement Sum Signal Settle	
Final Settlement Sum Is Third Party Workshop GIA Registered? [] YES [] NO (Kindly indicate below) A) For Non GIA Registered Workshop: Agreed Liability (%) BOLA Applicable: Yes/No	X
Final Settlement Sum :\$ 21867.47 Is Third Party Workshop GIA Registered? [] YES [] NO (Kindly indicate below) A) For Non GIA Registered Workshop: Agreed Liability (%) BOLA Applicable: Yes/No	
Is Third Party Workshop GIA Registered? [] YES [] NO (Kindly indicate below) A) For Non GIA Registered Workshop: Agreed Liability (%) BOLA Applicable: Yes/No	
Is Third Party Workshop GIA Registered? [] YES [] NO (Kindly indicate below) A) For Non GIA Registered Workshop: Agreed Liability (%) BOLA Applicable: Yes/No	
A) For Non GIA Registered Workshop: Agreed Liability (%) BOLA Applicable: Yes/No	
BOLA Applicable: Yes/No	
ESEAT SCENETO NO.	
BOLA Liability:(%) Assessed Liability (*):(%)	
* Assessed Liability to be filled only for chain collisions and for cases where BOLA a not apply.	oes
Remarks	
Paymant Tark and Payman	
ayment Instruction: Payee's Breakdown	-
Performance Motors Ltd : \$ 20960.03	
Performance Motors Utd :5 7-45	
) For Knang Teck : 5 900-10	
Signed by appointed surveyor Date	
Date	

Please attach all the supporting documents to the form. (Final Repair Bill; Rental Invoice; Release Voucher; Authorisation to Act; Survey Report; Medical Report/ Bill (if any)

AUTHORISATION TO ACT

(AIG Express Third Party Claim)

I, Ma Foo Kuang Teck (the third party claimant) of 7A Jalan Illy
Siglap, Sipare 457129 (address), owner of SBL9P (vehicle no.)
hereby authorize PERFORMANCE MOTORS LTD ("the workshop") to act for me
with respect to my claim for repair costs and/or rental and/or loss of use ("claim") for my vehicle no. $9819P$ that was damaged pursuant to the accident which occurred on $07/03/18$
(date) along Lower Delta Rd/Jalan Bt (location) involving vehicle no/s
SKZ9516e ("the accident").

I further authorize the workshop to settle my above mentioned claim in a manner that they deem fit and the workshop is further authorized to receive payment further to settlement of my claim with payment cheque/s being made in favour of the workshop.

I further acknowledge that any settlement the workshop may reach on my behalf is on a without prejudice and without admission of liability basis insofar as the driver/owner/insurers of the other vehicle/s is concerned.

Dated this _____ (day) of _____ (month) 20___ (year)

Signed by "the third party claimant" (with chop if applicable)

Performance Motors Limited 303 Alexandra Road Sime Darby Performance Centre Singapore 159941

Signed by "the workshop" (with chop)

Performance Motors Limited

A member of the Sime Darby Group Co. Reg. No. 197401559W GST Reg. No M2-0020081-x

303, Alexandra Road Sime Darby Performance Centre Singapore 159941

Tel. 63190100 (Sales & Admin) 63190111 (AfterSales) Fax. 64747770

280, Kampong Arang Road East Coast Centre Singapore 438180

Tel. 63190888 (AfterSales) Fax. 63449773

315, Alexandra Road Sime Darby Business Centre Singapore 159944 Tel. 63190528 (AfterSales) 63190533/530 (Motorrad) Fax. 64796601 (AfterSales) 64796624 (Motorrad)





SERVICE TAX INVOICE

Repair Order No. : B1 1251074 Page No.

1 of 3 :

Date IN

: 15/03/2018

Invoice Number :

2010275 / WSB

Invoice Date

: 19/09/2018

Cust. Svc. Advisor: Han Kwan Yong

Payment Terms : 30 Days From Invoice

Invoice By

: Sharon Heng

- CUSTOMER INFORMATION -

Mr Foo Kuang Teck 7A Jalan Ulu Siglap

121 - INVOICE TO -

AIG Asia Pacific Insurance Pte. Ltd.

78 Shenton Way

#08-16 Chartis Building

Singapore 079120

Singapore 457129

REGN. NO. SBL9P

CHASSIS NO. DX53156

REGN. DATE 11/06/2013

MODEL 520IA MILEAGE 60400

---- L A B O U R 1 ----

NETT 5,525.00

4,608.00

100.00

451.00

561.00

451.00

150.00

230.00

150.00

150.00

0.00

To replace rear bumper and attachments, tail end panel, rear boot lid and attachments etc including to make good

the both rear fenders, trunk

floor plate and knock out dented area caused by the accident. To remove and install body parts in order to carry out painting job.

To respray rear bumper, rear boot lid, tail end panel, both

rear fenders and trunk floor plate etc. To carry out body cavity preservation.

To carry out body cavity preservation.

(For cut panel).

To replace bootlid smart opener top and bottom sensor

lines including program and conduct checks for proper

To transfer lock mechanism from old to new bootlid including conduct checks on new bootlid central locking

system for proper function.

To remove old PDC assembly, replace damaged parts and reconnect to new bumper including conduct checks for

proper function.

To remove and install boot compartment carpet and garnish

to facilitate repairs.

To check electrical wiring systems and lightings at the rear section for proper function.

Sundries.

INS CLAIMS: ACCIDENT REPAIR. DIRECT SETTLEMENT.

DATE OF ACCIDENT: 7.3.2018. 3RD PARTY CAR: SKZ9516C.

YOUR REF NO: NIL.

VEHICLE WAS SURVEYED BY MR TAUFIKH FROM LKK AUTO CONSULTANTS PTE LTD ON 14.3.2018 AT 1.00 PM. AUTHORISED REPAIR BY MS ASHER SNG FROM LKK ON

13.3.2018 VIA E-MAIL.

PROPOSE LOSS OF USE = \$100x9. THE AMOUNT IS SUBJECTED TO INSURANCE COMPANY COMFIRMATION.

LTA SEARCH FEE = \$7.45.

0.00

0.00

Total Labour 1:

12,376.00

Date IN

Performance Motors Limited

A member of the Sime Darby Group Co. Reg. No. 197401559W GST Reg. No M2-0020081-x

: 15/03/2018

303, Alexandra Road

Sime Darby Performance Centre
Singapore 159941

Tel. 63190100 (Sales & Admin)
63190111 (AfterSales)

Fax. 64747770

280, Kampong Arang Road
East Coast Centre
Singapore 438180

Tel. 63190888 (AfterSales)
Fax. 63449773

315, Alexandra Road Sime Darby Business Centre Singapore 159944 Tel. 63190528 (AfterSales) 63190533/530 (Motorrad) Fax. 64796601 (AfterSales) 64796624 (Motorrad)



SERVICE TAX INVOICE

: 2 of 3 Repair Order No. : B1 1251074 Page No.

Invoice Number: 2010275 / WSB

Invoice Date : 19/09/2018

Payment Terms : 30 Days From Invoice Cust. Svc. Advisor: Han Kwan Yong

Invoice By : Sharon Heng

			Retail	
PARTS		Qty_	Price	NETT
TAIL END PANEL		1	817.30	817.30
BOOTLID		1	1,602.40	1,602.40
RR BUMPER BOTTOM CENTRE	BUIDE	1	58.95	58.95
RR BUMPER CTR GUIDE		1	67.35	67.35
RR BUMPER CARRIER		1	714.25	714.25
RR BUMPER PANEL PRIMED (PD	C)	1	1,467.20	1,467.20
RR BUMPER ADAPTER		1	48.00	48.00
EMBLEM GROMMET		2	0.80	1.60
BMW EMBLEM		1	69.50	69.50
MODEL LETTERING 5201		1	62.55	62.55
BLIND RIVET AVIBVLB		20	0.55	11.00
SCREW (SF PLUS M5X15)		10	0.55	5.50
(DG/SL) BODY ADHESIVE K5B (1	95ML)	1	281.55	281.55
(DG) CLEANER R1 (100ML)		1	23.85	23.85
(S/L) SEAM SEAL 300ML		2	33.80	67.60
PUNCH RIVET N4		20	0.55	11.00
BLIND RIVET AVIBVLB		20	0.55	11.00
SENSOR WIRE FOR SMART OPE	NER TOP	1	42.10	42.10
SENSOR WIRE FOR SMART OPE		1	40.50	40.50
PLUG BLACK D=5MM		3	0.90	2.70
TRUNK LID LOCK TOP		1	425.35	425.35
TRUNK LID POWER LOCK DRIVE		1	586.65	586.65
PLUG BLACK D=5MM		7	0.90	6.30
CONTROL UNIT SMART OPENER	2	1	468.85	468.85
TRIM PANEL TRUNK LID		1	121.15	121.15
REAR RIGHT COVERING		1	84.20	84.20
BLIND RIVET		6	1.25	7.50
EXPANDING NUT		4	1.10	4.40
BLIND RIVET		4	1.25	5.00
EXPANDING NUT		4	1.00	4.00
PLUG		10	1.05	10.50
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			al Parts :	7,129.80
LABOUR 2				NETT
To supply rear silver emboss letter plate with bracket.	ng black base number			83.00
plate IIII. Station		Tot	al Labour 2:	83.00

BMW Dealer

Date IN

Performance Motors Limited

A member of the Sime Darby Group Co. Reg. No. 197401559W GST Reg. No M2-0020081-x

303, Alexandra Road Sime Darby Performance Centre Singapore 159941

Tel. 63190100 (Sales & Admin) 63190111 (AfterSales) Fax. 64747770

Cust. Svc. Advisor: Han Kwan Yong

280, Kampong Arang Road East Coast Centre Singapore 438180

Tel. 63190888 (AfterSales) Fax. 63449773

315, Alexandra Road Sime Darby Business Centre Singapore 159944 Tel. 63190528 (AfterSales) 63190533/530 (Motorrad) Fax. 64796601 (AfterSales) 64796624 (Motorrad)



SERVICE TAX INVOICE

Repair Order No. : B1 1251074

: 15/03/2018

: 3 of 3 Page No.

Invoice Number: 2010275 / WSB

Invoice Date : 19/09/2018

Payment Terms : 30 Days From Invoice

Invoice By : Sharon Heng

Labour Charges : Parts Charges : Lubricant/Misc :	12,309.00 7,129.80 150.00	Total Labour & Parts Charges Less Insurance Excess Invoice Total Amount Exclude GST GST @ 7%	: S\$	19,588.80 0.00 19,588.80 1,371.22
Computer generated invoice. No	o signature is required.	Invoice Total Amount Include GST Amount Payable Include GST :	: S\$ 	20,960.02



Work was carried out subject to the Company's Terms and Conditions of Service.

No complaints will be entertained unless reported within seven (7) days of the date of this invoice.

For credit purchases, interest @1% per month will be debited on overdue amounts.





Land Transport Authority 10 Sin Ming Drive Singapore 575701

GST Registration No.: M4-0006529-2

Print Date/Time:

08 Mar 2018 / 16:38:24

Receipt Date/Time: 08 Mar 2018 / 16:38:24

Tax Invoice/Receipt

Receipt No.: ITNET-00000-180308-001640

Previous Receipt No.:

S/N Item Description/ Business Transaction Reference No.		Amount Before GST (S\$)	GST Amount (S\$)	Amount After GST (S\$)
Result of Insurance Enquiry - SKZ9516C As at 07 Mar 2018/14:45:00 Insurance Co: AIG ASIA PACIFIC INSURAL 1 Insurance Enquiry - SKZ9516C	NCE PTE. LTD.			
Enquiry Fee 20180308163603215276		7.00	0.49	7.49
	Sub-Total	7.00	0.49	7.49
	Total Before Rounding	7.00	0.49	7.49
	Rounding Difference			0.04
	Total Amount Payable			7.45
	Paid By			
	xxxxxxxxxxx5164	Credit Car Visa/Master(Title Control	7.45
	Total			7.45
	Cash Change			0.00
	Tendered Amount			7.45
	Excess Refundable Amount			0.00

THANK YOU AND HAVE A NICE DAY!

Please ensure that all payments to the Authority are good and promptly settled by the payment service provider / financial institution. Otherwise, the transaction and receipt is considered void and late fee may apply.

REPUBLIC OF SINGAPORE IDENTITY CARD NO. \$0338412H





FOO KUANG TECK

符廣德

CHINESE

ate of Birth

01-09-1943 M

nuntry of Birth

SINGAPORE

1366722





NRIC No.: S0338412H

Blood Group Date of issue

0+

29-09-1993

7A JALAN ULU SIGLAP SINGAPORE 1545

REPUBLIC OF SINGAPORE DRIVING LICENCE



Licence Number: S 0 3 3 8 4 1 2 H

FOO KUANG TECK

Birth Date: 01 Sep 1943 Issue Date: 11 Feb 2003

000192480E

YOU ARE LICENSED TO DRIVE VEHICLES IN THE FOLLOWING CLASS(ES)

PASS DATE

Class 3

Motor Cars and Motor Tractors the weight of which unladen does not exceed 2500 kilograms

18 Feb 1963

Licence No: S0338412H

NP 428A